YAk g \ . g re i —
M= HUEHTH %‘ﬁ TR F L ) E YRR -
JEYRSER -

T FHESEIR ] SR P TR BT
BURG 22 = RIS AR 2D 72 RS a) AENEH 15R2
>:<B?Lﬁ15' FRHE T ﬁ?ﬁiﬁi .‘.'/%LFPEWEFAF
. TR (R 10 57) -

L 5057 Rl 1 B:00~12:00 i ARENEF RIFT (K - 00 [ 1T 5 G4 85.0 BA » 7 13:00~18:00 ¥ bl A1 1)
F?lﬁ PR 1 o S e 1 48.5% > GG RIS 5 0 0 8 L TR B S5 R (TWAY G ) 2

2. L5 B RIS [ U 55§ By - S 25 1R SRR T
B S IR P G R :ﬁ—jrﬁj , ﬁﬁmy[m B SFEE 4*;’% AN Elﬁﬂjgl_ {“B%Laffaﬁﬁ
STHI: FI1EE 100 PPM ~ ~ 128 100 PPM K445, 50 PPM > %ﬂ: i I *LTHJ%%?;M Rl Ry ijﬁ
AR o

PP P S e T
e
3B 92) 20.6 PPM 64.3 PPM
S
(3B 106) 36.5 PPM 14.5 PPM
Peg e
(355l : 166) 20.8 PPM 5.4 PPM
3. [BRUHLY PEMEG N MPERRIRE TR Tl i Ba o)
4. B TR (D)W () et (R AT
<FIFIHEREE>

5. RO N UM BRI TR P TR 7 (1) AR T (U E AT L [



6. Hi SLESBR 7

7. ECRU [ O E U2 T B -

T EEFE(DE 3 57)30%

L JSHIPER R T S B RIRMARY REPIINSIE 2 (8) P SFHESS REHE) i P REHC) Wb
(D) B 1t 5

2. ()BT WFEFH T BT TR f% RE z&%?ﬁﬂ/ﬁ}ﬁ@ = BEITE (A 500—6000Hz(B) 4000—8000Hz(C)
SOO—2OOOHZ(D) 3000—6000Hz !

3. (B ~ PTG LT (S LR (A) RIEREEB) SRR AR D) T -

4. (O VEIFSET 2 i AL P G PSR I D 2 N I 2 R L2 (A) 10
N N(B) 157 H(E) 2.0 7 R(D)25 L.

5. ( ) aFVCPHE ™ [# bFEV/FVC FUE=FIPHE ™ % c. FEV/FVC Elfifbﬁj}ﬁfj’ A~ S [“BHEHCIR P e e, FVCH -
A5 FEEE IR . (A) bde(B) abd(©) acd(D) cde -

6. ()FRIGIFS T T B (T S BB e VR E IS R B IR S Y (A) ﬂféfﬁﬁﬁg’if’{“@*(B) 2R
#r(C) 2T (BHE(D) %I%Wﬁ”&%ﬁ%ﬁp

7.0 )E RV RN (A) Eli‘%%‘ 1£B) I 12O SHRtED) FEREHERT

B )y SIPTAI  BSE  AOS 7 (A) I B) TR O) I
ERIEN ) s

9. ( )“'H'ﬁqﬁ”# %LLHF*' 40 =0 5T T 4 T ERRIER D NSRS B 160 p/100mL » It S Fo g ER S pTET g
Rl o 8 L L BRI S e H“i&ﬁﬁ £ (A) 80 pg/100mL(B) 40 pg/100mL(C) 60 pg/100mL(D) 20 pg/100mL

10.( )Eﬁ%’?’ﬁ%ﬁzﬁﬂﬁ‘ﬂ@ HROR BRI 2 (A) MR (B) RIS (C) HIIEIHOD) FIlEH -



